


Wymiary

Urzgdzenia wewnetrzne

Urzadzenia $ci MSZ Di: ie / grzanie, MSZ-LN18-60VG2 R/V/W/B
505 ~
890 -
- 874 ‘ — 1
7l { =
— =
= ‘ 5 g o
o ] 1] ]
| 1 1 I
It 385 O
235 28.5 2 b

Inwerterowe urzadzenia Scienne Premium MSZ, chtodzenie / grzanie, MSZ EF18-50VGK W/B/S

885

875

:

Il
0 0 v
29
4'(J
T
250

59 6718 158
Inwerterowe urzadzenia Sci MSZ, ie / grzanie, MSZ-AP15/20VG
s=BsE 3355 <
160 ftees -
740 =4y 2= f—

ol
250

—
]

—
@) | | 505 189
T T T
Inwerterowe urzadzenia Sci MSZ, chiodzenie / grzanie, MSZ-AP25-50VGK N
S| BE538¢E -
=, 2EE 3= -
798 | S/ 28532 i
) | —
,P T ; 7] . ?r
] D
2 B &
’_L
I [
Inwerterowe ur ia Sci MSzZ, ie / grzanie, MSZ-AP60/71VGK 058
Airin
| Installation plate
1100 =5
1090 5
0 -
— @ N Piping
o N
—— 1 . L S
8
e e e e s s s e 7 ais | a1 8 I/ T Tesel
(707 12 Drain hose
2 % 160
Air out 184

72/ Seria M



Wymiary

Urzgdzenia wewnetrzne

Inwerterowe Urzadzenia przy MFZ, ie / grzanie, MFZ-KJ25-50VE; MFZ-KT25-60VG

750
7 o6 5
730
=
e
g g
gl
Jeo]
Urzadzenia kasetonowe 1-stronne MLZ, chtodzenie / grzanie, MLZ-KP25-50VF
INDOOR UNIT DETAL VIEW GRLLE OUTUINE DRAMING
1G00R. by s
- [ —— N
il I
ﬁ P o il FRNTVEW _arncmree J—
| - B f =
a <4 s {f ! P
A awsia Now weame
173 — ) Y—
& o8 R
on e

Urzadzenia kasetonowe 4-stronne SLZ, chtodzenie / grzanie, SLZ-M15-60FA

Dot of eceving

Urzadzenia kanat SEZ, chiodzenie / grzanie, SEZ-M25-71DA

Tare connecton (1gud

t <sdElo
A %
i 2X2-{29, 116 |70, E::wnmmnrk .
Opepy” /| =l o i st
i fare comneton (azs) Drain pipe(0.D.{ 32)(Spontaneous draining)
i ¥ — T @ Gas pipe
S EEvaiay T Ec 1052
axeq20/ 2 E 0 FiEk]

Note1.Use W10 screw for the suspension bot (feid supply).
p the senice space for the maintenance al he bott
3.This chart ndicates for SEZ MSODA(L) modelwhich has 3 fan.

410 casa an et duct s used.remove the alr fiter (supply with
he unit). then nstall he fitr (fiod supply)at suction sice

SeriaM /73



Wymiary

Urzgdzenia zewnetrzne

Inwerterowe urzadzenia zewnetrzne MUZ, chtodzenie / grzanie, MUZ-LN25/35VG2/VGHZ2

s
0i7

Inwerterowe urzadzenia zewnetrzne MUZ, chtodzenie / grzanie, MUZ-LN50VG2

DR
24z

Inwerterowe urzadzenia zewnetrzne MUZ, chtodzenie / grzanie, MUZ-LN50VGHZ / 60VG

417.5
Drain hole ®42
Air in 40
{
| f|
g
g 3l
Blair inc| 8
& Air out b
2-holes 10x21
175 500
Inwerterowe urzadzeni gtrzne MUZ,
|- 400 | Drainhole
| Airin |
= 4

3445

i
2holes 10x21\ |, M 2

Air out

ie / grzanie, MUZ-EF25-42VG

S0t
1 8 R TN

800

223

550

Inwerterowe urzadzenia zewnetrzne MUZ, chtodzenie / grzanie, MUZ-EF50VG

s15
- Drain holes

Arin o

Elﬁ‘L @ — _
A S

glarin | ——T——— 3
—

Y \ 4 holes 10 21

10 | Arout g 4 holes 102

74/ SeriaM

Handle *f
g E
8
& |
°
2 A
| = |
I 150 | |69
T
3025 |
|
500 Boltpich fo instalaton |
800
840 80
21

Lo rerRcERM FEE N1

semce pou / 645 REFRGERANT PPE JouT

e el

Service panel

Liquid refrigerant pipe joint
Refrigerant pipe (flared)
2635

Gas refrigerant pipe joint
Refrigerant pipe (flared)
0127

Service panel

23
*Hr Liquid refrigerant

| pipe joint

|  Refrigerant pipe
[T (ftared
B
3|
3| Gas refigerant
J_,» pipe joir
w Remgeram pipe
2l 170.5 ]\ (flared;
3|
Service port
T

Service panel

Liquid refrigerant
pipe joint

0.

Refrigerant pipe
(fared)
8 Iy E-E
HE == Gas refrigerant
= ‘pipe joint
Refrigerant pipe
198 (Rared)




Urzgdzenia zewnetrzne

Inwerterowe urzadzeni zne MUZ, ie / grzanie, MUZ-AP20-42VG
840 81
109,
4175 L
Drain hole 942 |
Airin 20
4
I
e
E 8
l Air out
2-holes 10X21
175 500 -
Inwerterowe urzadzeni zne MUZ, ie / grzanie, MUZ-AP50VG
4175
Drain hole @42
Airin 20
4
I
iE|
E 8
l Air out
2-holes 10X21
175 500 -
Inwerterowe urzadzeni zne MUZ, ie / grzanie, MUZ-AP60/71VG
4175
Drain hole @42
Airin 20
4
I
e
E 8
l Air out
2-holes 10X21
175 500 -

Wymiary

Service panel

Liquid refrigerant

pipe joint

i Refrigerant pipe
d)

ST~ Gas refrigerant

T pipe joint
Refrigerant pipe
(lared)

Service panel

Liquid refrigerant
pipe joint

i Refrigerant pipe
(flared)

Gas refrigerant
T pipe joint
Refrigerant pipe
(flared)

Service panel

Liquid refrigerant
pipe joint

i Refrigerant pipe
(flared)

2~ Gas refrigerant
T pipe joint
Refrigerant pipe
(flared)

SeriaM /75




Wymiary

Urzgdzenia zewnetrzne

Inwerterowe urzadzenia zewnetrzne MUFZ, chtodzenie / grzanie, MUFZ-KJ25 / 35VEHZ

m

2]
H|:|W P
~

Inwerterowe urzadzenia zewnetrzne MUFZ, chtodzenie / grzanie, MUFZ-KJ50VEHZ

Inwerterowe urzadzenia zewnetrzne SUZ, chtodzenie / grzanie, SUZ-M25/35VA

zhoes 10621\, — e

Airout

e
=,

|| e | §in
i ]

wens | —
( —

360

AR N DRAI N HOLE
2

304~325
344.5

| 3
T Y
B AR W=
AIR OUT 0

Inwerterowe urzadzenia zewnetrzne SUZ, chtodzenie / grzanie, SUZ-M50VA

QUAL HOLES 2-10x21

1.5

Inwerterowe urzadzenia zewnetrzne SUZ, chtodzenie / grzanie, SUZ-M60/71VA

AR UT

OVAL HOLES 2-10:21

DRAN HOLE
042
400
ARN
3
| =
¥ Lz |
| Sem 0
ST d =K
=23 #
=t
|
! o
0

417.5
Drain hole @42
Airin 40
{ T I
|

o8 .
SJAir ine) g

&, Air out

2-holes 10X 21
175 500

76 / Seria M

l280

Handie 7f

150

3025

500 Bol pchfornstalaton

800

Al
,
d

Al
il
Al
L

500
BT PIICH FOR 1ISTALLATION

QFS
840 81
109,
S %‘ ===t

P~
o, e
\
\ ——
D Refrigerant pipe (flared)
=
= g\
o ol
il T} o rrorantppe o
!
ol \
g / Lms
Senicopon

1.7

SERVICE PANEL

Service panel

Liquid refrigerant
pipe joint
Refrigerant pipe(lared)

Refiigerant pipe(fiared)

LI0UID REFRIGERANT PIPE JOINT

164.5

99.5,

SERVICE PORT,

VALVE COVER

1645

]
a
&

SERVICE PORT,

1705

GAS REFRIGERANT PIPE_JOINT

SERVICE_PANEL

LIQUD REFRIGERANT PPPE JONT

1705

GAS REFRIGERANT PIPE JONT

Service panel

Liquid refrigerant pipe joint
Refrigerant pipe (flared)
26.35

Gas refrigerant pipe joint

164.5
99.5

Refrigerant pipe (flared)



Wymiary

Urzadzenia zewnetrzne

MXZ-2F33-53VF3

22.3 18 285 13
400

51]51)51

¢ \ i ..|||||||| .
= T
An awt i <f . 170. 4
10x21 Oval hole 150 500

2511

Drain hole 42 (In case of Base heater models ¢33) s
3 Air in handle
Airinc> [ % ; g N Liouid pipe & 66.35(flared)1/4
( \ ol 8 ; Gis pine ¢ 80.52(Flared) B } B unit comection
= 8 + N Liouid pise & ¢6. 35(flared 1/4
+ Gas pipe  : ¢9.52(flared)3/B } A wit comection

800 69
MXZ-3F54/68VF3
840 30
200 258 330 125
169 500 171
65.4 2075 34 ‘ N = =
A ol 5 o i =), e
<
S ——y = N f
< e T 2 |5
3 |8 N
. :‘:: = - 2
83 M ™ S 0 Funi ¢
pre SI g |® s
o v [ runte - ERS SSTENATE
3-¢33 Drain hole &8 E 9 N e
4-10%21 Ovol Hale B =
(Foundation Bolt M8)
MXZ-4F72/80VF3
840 30
12 200 n 200 258, 330 125
65.4 2075 34
N L
X Dot =
" - i et
: — o o = Loo
2 - IHIHII\IIW““ |
© ) ol ¥ il N
s ™ A =] o [ 29 Funito
Air Inlet &> m a | - .
[ — S }EES .
o . = o T o e
3-633 Drain Hale O 60er l[: R I .
= Lo s 3 om 4 — GRS SERERLARE
4-10%21 Oval Hale
(Foundation Bolt M&) . =
299
MXZ-4F83VF
75 600 175 950 25 330 15
714 2464 $Airin _ - -
514 2-U Shaped Notched Hole -
10 865 | _933 165 (Foundation Balt M10)
I(\A] . ﬁ o Handle
ql e L
v 9 ..
T T OT _ Air in
U - & § i }Unw D
i ] SR
Airin=> Bl S E B—L10 it ¢ | LIO_26.350149FLARE
e =] = i GAS #952(3/8"FLARE
{ e |® K9 o s
6-233 Drain_Hole '} i S G
S e : A S e
T n 10 =
- & Airout 4o 7 - = | ==
2-12x36 Oval Hole
(Foundation Balt M10)

SeriaM /77



Wymiary

Urzgdzenia zewnetrzne

MXZ-5F102VF

796

407

175 600 175
464, CAirin
2-U Shaped Notched Hole
86.5 93.3116.5 (Foundation Bolt M10)
gl o ©
~ N
Y Ef :
<
- s
& I o2
- a T &~
Airin &> > Rlo
=]
g |®
6-¢33 Drain Hole i [&F i 7
10 & Air out ),Lﬂ hl
|19
-12x36 Oval Hals
(Foundation Bolt M10)
MXZ-6F122VF
JAirin
600 175
250 80 97 116 2-U Shaped Notched Hole
(Foundation Bolt M10)
o C’l gl © Handle
89 y
f s
= T -
3 L ! ol ~
Airin & 73 ~ - 5k
L - g N
5
6-033 Drain Hole = T — &
oot B N0k 5
2:12x36 Oval Hole
(Foundation Bolt MT0)
MXZ-2F53VFHZ
600
714 2664, e
514 Arin 2-U Shaped Natched Hale
10 865, 93316 (Foundafion Bolt M10) randte
% g o e o
T 11
= bbb+ of H
s arns N
o |8 5
6-893 Dran tole ; b S
J T“ j—
grrar TN\ o A
2-12X36 Oval Hale
(Foundafion Bolt M10)
MXZ-4F83VFHZ
Gairin
600 175
2-U Shaped Notched Hol
Q 250,80.27, 16 Foundation Bott MO
Hangle
10
INE=TR=] R
BEN
] _
¥ I " ol
3 g
Arine> 5 I SE m
7 o |8 s
I fl
62933 Drain tiole € Ir =
saron A N2L

78/ Seria M

2-12X36 Oval Hole
{Faundation Aall M)

25_, 330 =]
i S
Air in
E B 7'GAS} UNIT &
B Lio
UNIT D
E BTl *EAS} LIQ_ 96.35(1/4)FL ARE
F 3 1a }UN‘T ¢ [ BAS #952(/8 FLARE
e
F - }UN\T B
B *'UO} LI0_ 963511/47FLARE
sf UNT A= GRS 815701/29FLARE

1048

796

Handle

70

|— Liquid pipe : @6.35(flared)1/4 \ F unit
{— Gas pipe : ©9.52(flared)3/8 f connection

L Liquid pipe : ©6.35(flared)1/4 \, E unit
— Gas pipe : 39 52(flared)3/8 f connection

[ Liauid pipe - 96.35(flared)1/4 . D unit
L — Gas pipe : @9.52(flared)3/8 connection

— Liquid pipe : @6.35(flared)1/4 unif
[ Gas pipe : ©9.52(flared)3/8 f connection

I Liquid pipo - 96 35(fared) 114 4 B unit
pipe : @9.52(flared)3/8 | connection

= qua pipe : @6.35(flared)1/4 \ A unit
1¥ _ Gas pipe : @12.7(flared)1/2 J’ Connection

—. E Air Intake

S5 eos B ARE

.l GAS
5} o a

330

1048

LT
TTTTT

Handle

")

s purit D

LI0_#6.35(1/£"FLARE
s Junt RS So3T sor ARe

Junit B

CEaryaaal

CoCosoc

Li0_#635(/LIFLARE
it A- R AR

“\.AIr Intake



Wymiary

Rozdzielacze do jednostek zewnetrznych PUMY-P YKM/VKM

PAC-MK33BC

450 102 278 40

233

% _
81 _90 | 87 __70
U~ U PR
C B A

(D—6)

170
85,47 |
®
%
g

25 125,

PAC-MK53BC
450 % _
93 81 _ 102 278 40

) © 90 | 87 70

170
65 _ 47

g |
i N | 19595059
@ 25 25 125

70 |70 | 70 | .70

PAC-LV11M-J

280

20 240

68
183
i
|
142
62
1
&
N
I
H
I

€]
®
°
58
62
®
€]
]
I
I
I
t
69
100

15. 250
280

SeriaM /79



Wymiary

Urzgdzenia zewnetrzne

Terminal connection

1050 From lef o right
Fortho Forthe Forthe For concentration
= - wer supply ranch box tré lission line ntrol
PUMY-P112-140VKM/YKM < p8EFuppy | Bt | Whison e || G5! )

@ Rear Air Intake
2:U Shaped notched holes
(Foundation Bolt M10)

225 600 225

Insalaon Fot ‘

Ground for the power supply

=

Ground for the transmission line
Ground for concenration control

Side Air Intake

the branch box
power Supply’

Service panel

J
370
47

%55

33 o o .

o ! 8l g e

) el iii |||||| o

|70} 56 I " 'll| o At Intake ;
. . .12x] val hol & =
prDscharge \pEken g |||||. iy =
T u | i

*1426
*1510

369

)

Front piping cover

Rear piping cover

Terninal connection

PUMY-SP112-140VKM/YKM Fram left fo r\gm

For cenfral
el Supply | Brtineh box|lcamunicotion cable| [contia
pawer supply

Rear Air Intake
2-U Shaped nofched holes 1050 \
(Foundatfion Balf M10) Handle for moving 362 \ Case of V power
225 600 22 — -
‘ Installation Feet < ¥ C— =23 Ground for the power supply
Side Air i L=t ‘
Ground for the branch box power supply
Intake [ ] ‘
Ground for the communication cable
21 1 35S
m| m| < Ground for central control ‘
[ /TSA )
40 =
$§2 - ‘ =
< 8 Handle for moving A infoke

SREP

<
Air Discharge ;5
2-12x36 Oval holes
(Foundation Bolt M10)

629

498
0
»

Service panel

i

il

Rear piping cover

.
.

.

.

.

¥ 374

¥ 390

6]

Front piping cover

80/ Seria M





